Quiz 3 SHOW ALL WORK
Oct 12, 2018

1.) The solution to y” + 16y = 36cos(2t) is y = cicos(4t) + casin(4t) (+ 3cos(2t)
Use this fact to answer the following two questiors: i

[5] 1a.) Guess a possible non-homog soln for the following diflerential equation (do
not solve): " + 16y = 3sin(4t) — e*t

(GA

[3] 1b.) The general solution to y” + 16y & 36cos(2t) 4 32 is

+ 3o (2%) < l

2.) Circle T for true and F for false.

[2] 2a.) L{f) = af’ +bf’ +cf is a linear function on the space of all twice differentiable
functions. T F

[2] 2b.) L(f) = af” + bf’ + cf? is a linear function on the space of all twice differentiable
functions. T P

[2] 2c.) Suppose y = ¢1(t) and y = ¢o(t) aresolutions to ay” + by +cy =0,
y = 11 (t) is a solution to ay” + by’ + cy = g1(t), and
y = 1ho(t) is a solution to ay”’ + by’ + cy = ga(t), then the general solution to

oy’ + by + ey = qi(t) + 02(t) is y = c21(t) + cadha(t) + Y1 (t) + ¥2(t)- Q
| | T F
Sec @A e/ -

2] 2d.) B2 n(n — Danz™ 2 = £24(5 + 2)(J + Dajyea? = Zplo(n + 2)(n + L)aniez”
T Il

[2] 2e.) Suppose f(z) = Za,(z—3)" has a radius of convergence = r about the point zg = 3.
Then we can define the domain of f to be (3 — 7,3+ 71). T F

[2] 2f) Suppose f(z) = Zan(z + 1) has a radius of convergence = 4 about the point
zo = —1. Then we can define the domain of f to be (-5, 3). T P
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